Sr Questions Answers Choice

A Sl e
okl e
G e

1 = s G sdse = S o S il

o Aol

o3& b
e Jala
/-.h.ai u_hh

2 Y15 (et i (5 56S s o s et S I8 o

1988
1978
1968
1958

3 L Lo a0 S SL dali oS J K,

4 O SSwleS (S B g (S e VUl Lpa G (e S a8 (030,

5 = 038 Lo lsen Sl (e &K (01,

6 WSan S Ul i g sy ST ciSlae

7 de&%:agu&ki‘)ag,ﬁ.ﬂJ_

8 =y oy S 8 equm o S i S5 ] &K

9 2155 5 a3 55 Jan s G ol 2 5 a3 ),

10 e S S Ol oS B Gl e 1S GRS,

1 SRS EL S s Bl Jab S e ghj i 55 S 0R L

12 =S s 15 S sl

Y
Past
23
2 3k
Pt

13 O S (e ) oole G o €1 a i e S (e s &S,

el S S

p heli S B sy
5 lsls S 758 )
3t s S S

A pals
B. <&
C. Sk
D.

14 = e BB gl

COW » DUOUP» DOWP UOWE UOW> UOW> UOWH» DOW» UOWr DOWE U0W» U0Ws UOW> 00w
6\ E
Er

15 G S ol QS (e i)y,



16

17

18

19

20

21

22

23

24

25

26

= oo die

o CSsh 5 S Blae S emle e D dile

= s Km0 oS 1S a5 e I (i3l

oz IS B 5

S BAS 2 e S jlae s (Gl and o

=50 S el B Sl

oS S e o

= e Sallla AU ilaa,

P AU 1S (ool 5l 5y ilinn S e IS 240 S Sl S 558 s Jy 530 Al

= U aw usnls Qe oA el K ali ool

=S e e s (s,

Ow» DOWP DOWP UOWP DOUR

w >

DOUP» TOWP» 0OWP DO

A. S axi
L& s sl
EENT S

S Jsne
B<ysN)
}A

B

&l

Azl

s

Js)

oS3 o

e

5 L8 ol

sy

ey

C.dalay

& ndly 8K
1S ol A353 i



